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C2 Paper F — Marking Guide @o/o
%
"o
GP: a=10,r=2 B2 O’b
12
S = 1022 -1) M1
2-1
= 40950 Al “@
(i)  ZBAC=180— (107 +31)=42 Bl
BC__ 126 M1
sin42 sin31
BC = 1285042 _ 16 4 om (3sf) Al
sin31
(i) =1 x12.6x16.37xsin 107 =98.6 cm® (3s) M1 AL (5)
f)= [ (4x' =5) dr
fr)= 3x° —5x+c M1 A2
(8,7) ~ 7=3(¥8)-40+c M1
7=48-40+c
c=-1 Al
fr) = 3x° —5x—1 Al (6)
1 —cos® 0 =4cos 6 M1
cos’0 +4cos @ —1=0 Al
cos 6 = L V16+4 Ml
2
cos 0 =—2-+/5 (no solutions) or —2 + NG Al
0 =76.3,360 — 76.3 Bl Ml
0 =76.3° 283.7° (1dp) Al (7)
i)  =3—log 8 B1 M1 Al
=3_ % = % Al
(i) (2 -32x29=0 Ml
(2" - 6(29 =0
22" = 6)=0 M1
2*=0 (no solutions) or 6 Al
x= g —2.58 (3sf) M1 AL (9)
(@) =1+4x+6x"+4x +x* MI Al
B) () =1+4N2)+6(N2Y+4N2)Y+(\2) Ml
=1+ 42 +6(2) +4(242) +4 Ml
=17+ 1242 Al
(i) (1-+2)=17-1242 Bl
(-2 =[1-V2)P=017-1242) M1
=289 — 4082 +288 Ml
=577 — 4082 Al )
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%
()  a+d=26 S,
a+4d=41 M1 %
subtracting, 3d=15 Ml QOO
d=>5 Al 2%
(i) a=21 Bl
up =21+ (11x5)=76 MI Al
(iii)  Z[42+5(n—1)]= 2 [-24+7(n - 1)] M1 Al
n(5n+37)=n(7n—31)
2n(n—34)=0 Ml
n>0 ..n=34 Al 10)
() p(=2)=20 - —16+4—2a+b=20 Ml
b=2a+32 Al
(i) p($)=0 T+L+1a+b=0 M1
sub. 3t a+(2a+32)=0 Ml
a=-13,b=6 A2
(lll) x2 + X — 6
-1 + X —1B3x + 6
0 — X
2 — 13x
2 - x M1 Al
—12x + 6
—12x + 6
p() = (2x — D +x-6)
p(x) = (2x - D(x +3)(x - 2) M1 Al (10)
, dy
i — =1-2x Ml
() ™
grad=1-2=-1 Al
grad of normal = :—i =1 Ml
y=5=1x-1) M1
y=x+4 Al
(i) S+x-x'=x+4
X¥=1=0 Mi
x=1(atP) or =1 .. O(-1,3) Al
(iij)  area= J._ll [(5+x—x")—(x+4)] dx Ml
1 2
= L (1-x%) dx
— - 127 MI Al
:(1_%)_(_14-%):% M1 Al (12)
Total (72)

© Solomon Press

C2r MARKS page 3


https://mymathscloud.com

	For OCR
	
	GCE Examinations
	Advanced / Advanced Subsidiary


	Core Mathematics C2
	
	Paper F
	MARKING GUIDE





